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Product Inspection
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To what degree is product to be ? There are two methods
used for product of unsatisfactory quality from that generally

which is
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Inspect (v) = to examine sth carefully
asls a1 LY
Carry out (v) = to do, to perform (
03 S s LY
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3. Separate = not joint to each other, split
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4. Satisfactory # unsatisfactory o
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To be satisfied with sth



One 1s and the other

Screening or 100 percent inspection requires each item of product to
be inspected.

All defective items are ed and all are
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1. Screening inspection # sampling inspection Wi S du G“Jjj;
Br
2.  Accept (v) # reject o
o OIS 2, # SRy
3. Acceptance # rejection o
) F ey
4. Conforming items # non conforming items
Goaaials 38 £ Balaie 23]
5. Requires
e ¥
6. defective
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Although, Theoretically, screening inspection should result in
of all conforming items and of all non-
conforming items, the type of facilities, personnel, and working
condition for perfect screening may not only be expensive and
, 1t may also be , 1.e. conforming product
may be rejected and non-conforming product accepted in unknown
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Consume (v) = to use up RS G peas )
Consumption (n) = amount of sth used 8 yas Y
Time consuming R dse poy LY
Lead (v) = to guide sb # mislead S ol pl ¢ (uS) (S Culaa ¥
Misleading s o) & 0
Quantity # quality Cui€ £ CueS (Aaxd) 7
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In sampling inspection, only a or sample of the product is inspected. For most
, of quality may be obtained by performing what is
known as of the product. In such inspection, a group of
items called an inspection lot is accepted or rejected the
quality found in a sample drawn from the lot.
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1.  characteristic (n) = a quality or feature of sth LS i \
2.  Portion = a part of sth larger : A s
. Jn ool A Y
3.  Adequate = good enough= suitable lie g iS ¥
4.  assurance (n) = a feeling of calm confidence in your ol M
own abilities LR € O3 :
Lot = large quantity of sth adal e
lot-by-lot sampling i bop R eon s T
7. As a whole = use to say all the parts of sth S sk LY
are being considered siad alail A
8. Performing Kiven i Ciim g ¢ aide
9. Feature Sloal e s cwdBa )
10. Obtain Alaie ¢ glisadal )
11. Cofidence R gl el T Y

12. calm



Under "certain sampling plans", only one sample of a number of units

IS from the inspection lot and the decision to accept or reject the lot is based

on this sample. Lot - by - lot sampling is to the end product, to

iIncoming batches of , and to . Also lot-by-

lot sampling may be performed by drawing the sample after of the

lot ( lot) or by drawing units of the product for In the sample
with production Of the lot ( lot).
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1. predetermined (adj) = formed or arranged before it happens( o35 a3 U ) \
2. Draw (v) /drew /drawn  drawer sis S y
3. single # married Jalia £ LS5 ¢ yae v
4. Components = elements i 5l ¥
5. Applicable o Sl S c S o
6. Apply = use sth Ngre 5
7. sem.l-flmshed pr(?duct # e?d product ons ol | el 4 diaas v
8. Stationary # moving, mobile(s - o ) S ate o Sl A
9. Concurrent= happening at the same time( J,5-05") a3t q
10. Incoming ol eetiphasly Ve
11.  Batches (Wyams 1)
12.  Entire 03 50 Caned ¢ 5 yY
13.  Inclusion Gaf Oy
14.  Performed RSB PRSP |
15. Submit pS s 10
16.
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There are sampling procedures other than lot-by-lot sampling. For example, there

Is a procedure in which the inspector is required
of

sampling inspection or to inspect a

to perform
items, depending

upon the current results of inspection. Such procedures generally
continuous sampling from the production line and are applicable when

lots are not available.
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1.  Alternately = one after another

2.  sequence = a series of related events, action,

etc

3. Sequencing=arrangement of things into an

order

4.  Consecutive = follow one after the other

without any interruptions (.. o)
Involve (V) = to include=
Identifiable (st sws «0)
Procedures
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current
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The selection of the system of inspection to be used depends upon
economy, ease of , and of most importance, results in terms of
adequately maintaining the quallty level of the product. It must be realized that not
only is 100 percent fully conforming product generally Impossible to obtain
but also the acceptance of nothing but fully conforming product is
Impossible to assure by any Inspection system.
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1.  Administer (v) = to manage and organize the 05 S oysl L)
affairs of a company
2. Administration (n) Sl
3. Virtual = sth that is so nearly :virtual darkness ST T
4. Virtually = nearly AT
5. reasonable = fair and sensible : be Slha ¢ e
reasonableConfirm SeeeLF
6. Impossible Osls Olgalt LV
7. Assure oo 5 s S50 A
8. Adequaltely SO 3iE 05 ST S5 055 sshal L)
9. Realized ¢t js))



Human error , Or mechanical not only serve to the production
of 100 percent conforming product but also serve to prevent 100 percent perfect
Inspection, i.e. rejection of all non-conforming items and acceptance
of all conforming items. Fortunately, practical considerations of
end use seldom require perfection in every single item.
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1. Fatigue (n) = 1. very great tiredness 2.a Qi )
weakness in metal '

2. wear (v)/wore/worn = 1.getting dress, 2.
become damaged
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3. Prevent (v) = to stop sth from happening SIS ol Y
4. Absolute = use to emphasize on sth(w s ) Glae ¥
5. Absolutely Blhe jshay L0
6. Fortunately aliaba 7
7. Consideration laa Slagmm, v
8. 1l.e= for example s A
9. serve G B e A lad) (0 S Cwead) 4



a practical inspection system is based on the that a reasonable

for non-conforming is necessary and

There are a number of methods of
relatively. s+ . popular method is to
AQL.

ing allowance for non-conforming. A
the allowance as acceptable quality level or
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1. Hence (n) = for this reason

2. Premise (n) = a statement or idea that you Ll R ¢ AT
accept as true
3. Allowance = 1.an amount of money that you ae 2 ¢ AV Ll 3
are given regularly 2. sth which isto be e a4l b dlabe e
tolerated o sl
4.  Desirable (adj) = worth having because it is S Ol
useful (Jo ) C6€ 5 ialie 3
5. Express (v) = to state e
T
6. AQL . o
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7. Popular g
8. Relative '
9. relatively
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Military Standard 105 AQL as a value expressed

percent defective or of s per hundred units,
whichever is applicable, specified for a given group of
defects of a product.
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1. Define (v) = to describe sth S OIS iy
2. Nominal (n) sl
3. Interms of Ll 0
4. defect (n) = a fault or a lack of sth als
5. Applicable (Jsan Ji8 L) ) (5350 S
6. Value )aia
7. specified oA (pma ¢ 0dh adlia
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Sometimes, this nominal value is taken to be the poorest average level of quality which
Is to be d in the submitted product.

A small number of defects or a low percentage of defective items is » to

high quality” and a large number of defects or a high percentage of defective
units is requivalent to law quality.
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2. equivalent (n) 3,750 Jalas
3. To be equivalent to (v) L o e Jalas



AUTOMATION
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Automation is the substitution of machinery for human labor. The
machinery Include sensing and control devices That enable it to
operate automatically.

A key question in process planning is whether to automate or not. And
if the decision is made to automate, The question become how much to
automate.
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1. Automation (n) # Human labor = ) (5 9 # O gmila 55

Manpower OAS cpofala
2. To substitute = To replace( O gili=a S LAl ¢ a8 Ul g
3. Enable # disable CRANA S Jleya S
4. Device = Machine = Tools i gt —Cpila — ol
5. labor =labour (in American) ok - s
6. Decision il
7. To decide = to determine A8 R avanal
8. To make a decision OIS s ananal
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Automation can range from factories that are completely automated to a single

Automation offers a number of advantages over human .automated operation
labor. One is that human labor is inherently variable :it is difficult for a human to
perform a task in exactly the same way, And in the same amount of time,on a
repetitive basis.
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To be complecated s i

1. Machine , Devise, Tools ) . :
2. To make a decision A5 ‘°‘5'3*“f (Opiba N
3. Advantage # Disadvantage GRS s el Y
4. Direct # Indirect " “:“-’-‘ # ‘?UA Y
5. Inherently pifiens o prions ¥
6. Perform =to do the order w0

performed an operation GRS 1) -Gl aladl 7
7. Task=Activity=function Cullad = ald sy LV
8. Repetitive G S A
9. Exactly [CP-N.
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10. Variable Jaku



Variability is detrimental to quality and to meeting schedules
Moreover, machines do not get bored or distracted or don”t

They go out on strike, ask for higher wages or file labor grievances.
Automation is frequently touted as a necessary strategy for being
competitive. However automation also has certain disadvantages and
limitations compared to human labor.
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1.  Variability(ad;) ‘”j J,fzj K
2. Detrimental=causing harm or damaged ol a0 e R
by sth(Ju- 5 «») el £ paiis Juss ¥

3. Moreover=in addition, additionally . o n Lehoam a e )
. . Ol 229 4y 0 ) AOM Al (g 5 ) .0
4. Boring # Intere.stlng . RS g 1 g Gl 5 (338 i yaka K
5. rirxfs%ﬁif bored with sth. # To be interested a3y Julad ¢ Aabdio K
6. Distract = stop sb attention (oS M",A) OIS e A
7. Distracted=anxious and unable to think Cadid 4y Alas ¢ 4laa A
clearly 3 e K
8. To go on Strike s M
9. To strike = to attack the enemy (SR gt 43) Gl i) = (38 sl VY
10. Wages = salary =) NY
11. Grievance=sth that you complain about Lokl LA T8 VY
<) (s ¢ Ol Vo

12. To complain = to protest

13. Competitive
14. Frequently
15. Schedules



technology can be expensive .To being with, automation can be costly
once a process has been Automation is mach less flexible than humans:
automated there is substantial reason for not changing it. Moreover
automation often becomes an emotional issue with workers because of
the fear of job loss. The implication of this for process selection is that
automation has potential advantages as well as disadvantages
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1. Flexible=soft
#stubborn=determined not to

change your mind Sl puct pdy Cildans) L)
2. Substantial=Inherently K Y
3. Reason Jala K
4., Emotional : he got very emotional o

when he said goodbye ) — (s ¥
5. Implicate
6. Implication=sth that you believe to (s piliea — poasalNy 0

be shown by a particular situation: Pl o aa) el $

The i. in this case is that he’s 2 JA,S B

innocent. el — o g8l v
7. Potential oA A

8. fear : I have a terrible fear of dogs



So the issue of whether to automate or the degree to which
automation should be used must be carefully examined so
that all the ramifications are clearly understood by decision
markets.
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1. Issue =result .

2. Whether i Y

3. Examine : you will be Ll Y
examined on everything you Oaga il — S ladal Y
have learnt this year ml e

4. Ramifications = consequences



Maintenance
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Anyone Who Has Experienced The Inconvenience Of A Breakdown
In, a Vehicle (automobile, bus, train, or Aircraft) Can Understand The
Frustration, Delays, And Expenses It Can Cause.
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Experience =practice GRS 4l
Inconvenience = Discomfort =Disturbance wixbU cuwl
Convenience >,
Breakdown = Failure =Downfall b« Sskal LS 5l
Vehicle = Instrument Of Transport ada; alowg
Aircraft = Plane =Airplane lowled
Frustration = Disappointment Suloyd « SR isu
Expenses=costs=payments lxo (e,

Delay =Hindrance=hold S wsw bl 0aud Siu, @iy Wloj 5l yius Six aS (siloy Waw W,S Ll



These Same Consequences Can Occur For Almost Every Aspect Of
An Operating System. Because Facilities And Equipment Are
Continually Wearing Out, They Need Repairs And Replacement.
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Consequences = Result = OQutcome .5 . o) Jool> ¢ 2ol sy Az
Occur = Happen =Take Place iowgny £99qs « WLl Blasl
Aspect = Point Of View =Appearance loww,al « au> « dg00
Facilities = Resources =Tools OLllol « wMapaws
Equipment = Supplies Ol jap=
To Wear Out = To Make Obsolete WA 036w 9 « UL Eguuio
Wear = Be Dressed In=Be Used Up S99 ¢ Udaigy
Repair = To Fix =To Mend US,S uoi « US,S &Ml

Replacement = Substitution VA9 « s>



Maintenance Is The Function That Keeps The Production System Operable.

It Is Aimed At Keeping Or Restoring Any Asset To Satisfactory Operating
Status.
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Maintenance = Substitution LIS ¢ s>
Function = Duty = Role = Task Uud « aaubg « U
Operable = Feasible =Doable wdoe Gy ULl ¢ o LD
Aimed = Purpose = Intent = Objective LodId
To Restore = Bring Back = Return 0,S Sl « wals,S 0 Jgl s @,
Asset wubls

Satisfactory = Acceptable =Passable (s, 55 jus! e i Ay ¢ S, iy wwlo,



maintenance is primarily concerned with plant, machinery, and equipment.
it usually involves building, making emergency repairs, and so forth. without
proper maintenance, costly production delays can be experienced,
excessive idletime incurred, and unsafe working conditions encountered.it
is an important, if not vital), function for any production system.
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plant CH S
Incur=acquire VD Joxio
Primarily = In The First Place =Originally Jol alag 5> « Glawl
To Be Concerned With U Vb by o

Involve = Mix vl Jolw
Proper # improper Caw)d (Puo

So forth = so on 0,4E9

Excessive = Extra byeo « o5l 5l Guw
Idle # Busy BILW
Encountered = Face O Agalga (oM 99

vital = very important 0 Hloww (sil>



Maintenance, Which Is Sometimes Referred To As Facilities Management Or
Plant Engineering, Can Encompass A Host Of Responsibilities In Different
Organizations.
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Referred = Mention = Consider ooy 031> ,S 3 ¢ 0auw o)Ll ¢ 0oLl axgs
Plant Engineering G>)8 Csawdigo
Management Cag A0

Encompass = Surround = Enclose 0s,S ablal « 38,5 )

A Host Of = Entire swolod

Host = who receives guests = crowd Qwd « 09,5 « ,I> Ulogo « UL w0

Responsibilities *** Responsibility = duty = obligation oyl ¢ wlapgses « by



The maintenance function may be centralized,, decentralized, or a
combination in a given organization. With centralization, workers are in one
location and are assigned responsibilities as need arises. With
decentralization, workers are located in different areas of the plant, and
responsibilities are confined to their own areas.
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Assigned o odl> Lo
Centralized = Draw Toward Center # Decentralized 35S oin s #5u8l 5S 00
Combination = Joining =Union Of Two Or More Things w>,S bglxo « LS,
location = place =position CiuR990 (LuRog
Arise = Stand Up =Stir = Get Up wsls &)« vaw il ¢ ol
Limit =Restrict = confined U,S jazio « US,S d9i=xo

Malfunction 9 Lads



The degree of decentralization depends on the specific demand for
maintenance services, the travel time from a central shop, the
seriousness of downtime, and the degree of specialization required.
of personnel, but ,centralization results in a better utilization
decentralization results in faster service.
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Depend = Be Hung On Usgs gy o — UG Auwuly

Demand = Request = Requirement Cowlgs)s « Lolss

Seriousness = Acuteness = Severity= Solemnity HB9 ¢ i S0 ¢ S

Downtime = Break Period In Work time Of Factory LS o L8 wls,8 asS sudwe

Utilization = Use Of S)150 0580 « S, ¢ Wiao « oslaiwl



Maintenance costs tend to be lower when an asset is new, and they tend to
increase with equipment age as more effort is needed to maintain a given
level of performance .

(sometimes called ,s)Numerous assets tend to exhibit a disk-shaped curve
a bathtub curve) for malfunctions. early failure (infant mortality), is
associated with malfunctions in break-in operations.
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TIME VALUE OF
MONLEY
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We often find that the money consequences of any

alternative occur over a substantial period of time —
say a year or more.
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When money consequences occur 1n short period
of time, we simply add up the various sum of
money and obtain a net result.
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But can we treat money this same way when
the time span 1s greater ? Which would you
prefer, 100$ cash today or assurance of
receiving 100 $ a year from now ?
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You might decide you would prefer the
100% now because that 1s one way to be
certain of receiving it .
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but suppose you were convinced that you
would receive that100$ one year hence.

I SIS 48 day Sl s 33 1y NS Y v a5 Uedd dsline W WS o b L

‘ . < 0 . -
: 5!
! 1 4
The Time Value }. | 8
of Money /
p— 1
¢ > !

’

1. Suppose 055 2
2. TO convince O delaze
3. Hence=from now on




Now what would be your answer? a little
thought should convince you that 1t still
would be more desirable to receive the
100% now .
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If you had the money now , rather that a year hence,
you would have the use of it for an extra year and if
you have no current use for 100$ you could let

someone else use 1t .
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The use of money 1s a valuable asset-so
valuable that people are willing to pay to

have money available for their use .
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Money can be rented in roughly the same way one rents an

apartment ,only with money the charge for its use 1s called
interest instead of rent

Sl 4y O 31 05Ukl axs 32 47 O glii ksl b Jodd Sl 0315 0l J4B O LT s il® J g S 5 sk

.:}.%Gpc.k;n\.soﬁ‘o)\z-\

: rough e ) S
2. in roughly IS b
3. charge =expense w5
4. Rented > sy 0315 ol

5. Interest o 4

6.  Instead of =for L2553
7. To rent 0315 o5l




The existence of interest 1s demonstrated by the
continuing offer by banks and savings institution to

pay for the use of people’s money , interest.
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If current interest rate 1s 5% per year,
and you put 100$ into the bank for one
year ,how much will you receive back at

the end of the year ?
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Clearly you will receive back your original sum
of 100% together with 5% interest for total of
1058. this example demonstrates the time

preference for money .
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We would rather have 100$ today than the
assured promise of 100$ a year hence. In fact ,
we probably would need to be assured of at
least 10568 a year hence before we would
consider taking the deferred payment
alternative .
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This 1s because there 1s a time value of
money 1n the form of the willingness of
people to pay interest for the use of

money .
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Classification of Optimization

Problems
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Optimization problems may be classified based on the nature of
function and the system constraints. Obviously the objective

easier to solve than the the unconstrained problems are

constrained ones.
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The unconstrained problems are further classified based on whether

the objective function involves one or several design variables.
Basically there are two important classes of methods for solving the
unconstrained problems.

The direct search methods require only that the objective function be
evaluated at different points, at least through experimentation.
Gradient-based methods require the analytical form of the objective
function and its derivatives.
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An 1mportant class of constrained optimization problems is linear
programming which requires both the objective function and the
constraints to be linear functions. Out of all optimization models,
linear programming models are the most widely used and accepted
In practice.
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Professionally written software programs are available from all major computer
manufacturers for solving very large linear programming problems.

Unlike the other optimization problems which require special solution methods
based on the problme structure , linear programmmg has just one common
algorithm, known as the 51mplex method’, for solving all types of linear
programming problems.
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This essentially has contributed to the successful applications of
linear programming models in practice. Integer programming is
another important class of linearly constrained problems where some
of the design variables are restricted to being discrete or integer
valued.
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What Is Management?
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We often have a better appreciation of what we are talking
about if we can define our terms. Definitions need to be precise,
but unfortunately this does not mean that everyone will have
the exact same understanding, since at best they only give an
approximation of the original thought.
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A definition of management is “a creative activity which
develops an organization and its people to achieve specific
goals”. Each of the organizations achieving these goals will
be very different from the others, as they could be, typically,
a manufacturing concern, a government, a university, and a

hospital complex.
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Management and organization are necessary in each case. The
more that goals and objectives are specific, the better.
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Management styles within an organization differ according to the
personality and temperament of each individual manager and are
influenced greatly by culture and beliefs. Management is often thought
of as having evolved from ‘scientific management’, the oldest concept,
through ‘behavioral management’, then ‘systems management’, and so on.
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Perhaps the historical perceptions of management have
come about 1n this way; but it 1s our belief that each of
these different aspects of approach to management is

relative and needs to be integrated with the others.
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Decision Theory




Decision-making 1s at the center of all organizational
activities. Managers make decisions about their
systems which will achieve their objectives and
efficiently use human and material resources.
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Not only do they make decisions themselves, but they see that
effective decisions are made throughout the organization by
others. Because of the emphasis in organizations on decision-
making as a hierarchical right, explorations of the behavioral
aspects of the decision process did not occur until the last half of
the twentieth century.
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Even today, there is no unified agreed-upon structure for
decision theory.

The literature abounds with limited and partial theories that
tend to 1gnore the psychological and sociological characteristics
of individuals or the environment in which they live.

2 3 gy 4 LSS Dy g 4 oSS (555 S GBS B Ll o i
3 JJJ\JJG\.&‘\.{M}{ S 9390 Sl 6,985 G o g ) s (dagiﬁ@u)iij o lsss)

1. Agreed-upon B8 g3 Y
2. Literature clwal Y
3. Abounds Reyy Y
4. Partial &) ASS ¢ and ¥
5. Tend S & L0
6. Ignore RS s ada | F
7. Individuals i Y
8. Environment il yhl e A



The process of management is fundamentally a process of
decision-making. The functions of management (planning,
organizing, and controlling) involve the process of evaluating,
selecting, and initiating courses of action. ANSOFF classified
organizational decisions into three categories:
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1) Strategic decisions are primarily concerned with external rather

than internal problems of the firm.

2) Administrative decisions are concerned with structuring the

firm’s resources to create maximum performance potential.

3) Operating decisions are primarily concerned with maximizing the
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profitability of current operations.
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